
Bed Frame with
Storage Drawers

Thank you for your purchase at our store.
Please contact us directly if you have difficulty with assembly or need replacement parts.
Professional customer service is here to assist you.

Please attach your order ID or some photos related so that we could help you better.

Assembly Manual

1/20



Two people are recommended to install, which will greatly improve your
installation efficiency.

Tips Before Assembly

1. Read through each step carefully and follow the proper order.

 2. Identify, sort and count all the parts with tags.

 3. To avoid any scratching, putting a soft blanket on the floor is suggested.

 4. If using a power drill or power screwdriver for the screwing, please  be
     aware to slow down and stop when screw is tight. Failure to do so may
     result in stripping the screw.

 5. Put the screws in loosely until all pieces are together and then tighten
      them all. It will save your time if you make a mistake while installing.

2/20



3/20

SX4 TX4 UX4

VX12

A

A

B
C

D

E

F

G

F

G
H

H

I

I

I

J

K

LM

N

O

P

P

Q

R



A
PART LIST

4/20

2 pcs

B

1 pc

C

1 pc

D

1 pc

E

1 pc

F

2 pcs

G

2 pcs

H

2 pcs

I

3 pcs

J

1 pc

K

1 pc

L

1 pc

M

1 pc

N

1 pc

O

1 pc

P

2 pcs

Q

1 pc

R

1 pc

S

4 pcs

T

4 pcs

U

4 pcs

V

12 pcs



HARDWARE LIST

5/20

1

4 pcsM8x50

2

12 pcsM8

3

11 pcsM6x35

4

8 pcsM8x30

5

2 pcsM6x50

6

4 pcsM6x55

7

16 pcsM6x32

8

16 pcsM3X12

9

7 pcs

10

44 pcsM6x12

11

4 pcsM6x25

12

12 pcsM7x38

13

16 pcs

14

32 pcsM4x6

15

4 pcsM6x10

16

6 pcs

17

1 pc

18

1 pc

19

24pcs

20

16 pcs

21

9 pcs

22

1 pc14MM

23

1 pcM5

24

1 pcM4

25

1 pcM4

26

1 pc

27

12 pcsM6x10 1.4M

1 pc

RF Remote
Control28



STEP 1

STEP 2

6/20

x41

x42

D

F

G
F

G

F
GD 11

2 2

x83

3
3

3
3

3
3

F

F

G

G
E

A

A

Note: (A) Piece mounting direction



STEP 3

STEP 4

7/20

x42

x44
2

2

4
4

D I

x13
3

D

I

J



STEP 5

STEP 6

8/20

x22

x24

x13

3

4 4

22

x25

x46

5

5

6

6

6

6

J H

H

E

A

A

K

L

Don't fully tighten ⑥screws,
leave them at 4 cents as shown,
which are used to snap part (C)
/part (B) into place in following
step 7 / step 10..



STEP 7

STEP 8

9/20

C Snap tube C into screw #6,
then torque screw #6

x133



STEP 9

STEP 10

10/20

x22

x24
2 2

4
4

I
C

B

Snap tube B into screw #6,
then torque screw #6



STEP 11

STEP 12

x87

7

7
7

7
7

B

Q

11/20

N
1

2

3

P

P

11
11

P

N

Please point the arrow upward to the mounting hole
when installing Part 11. then use screwdriver to
tighten it in the "+" direction.

Cam Lock Fastening System

1 2 3

Use a screwdriver to
install the screw into the
(N) plate piece rubber
gasket and tighten it,
connect the (P) plate
piece to the (N) plate
piece, and then install
the eccentric wheel into
the (P) plate piece and
tighten it clockwise.

7

P

x411



STEP 13

STEP 14

12/20

x148

x79

x119

Tear off the tape of the LED strip,
stick the LED strip to thebottom of
top panel(N). Fix the LED strip with
plastic dips.

17
17

16

1717

x417

x216

N

19

8 88

9
9

8

19

N



STEP 15

STEP 16

x28

x118

8
8

M

M

x412

12 12

P

P

18

13/20

12 12



STEP 17

STEP 18

x817

x416

x1210

10

10
10

10

K
L

N M

14/20

!

!

17
17

16
17

17

17
17

17
17



STEP 19

STEP 20
x119

x812

N

O

M

12
12

Firstly, attach the light strip to
the bed frame and then secure
it with hook and loop fasteners.

x922
22

22
22

19

15/20

22
19



STEP 21

STEP 22
x119

x87

7

7
7

R

E

19

19

16/20

7 7

7
7

7



STEP 23

STEP 24

VX12

Align the holes and press
down hard or hit them
with a hammer

VF

G

x2420

20

17/20



STEP 25

STEP 26

Open the wire drawer

Press the plastic hook into
the wire frame.

T

T

T
14

21

x1613

x3214

x1621

18/20



STEP 27

STEP 28

x3210

10
10

S

T

T

U

19/20



STEP 29

STEP 30

S

x415

15

Use exposed screw to secure
the drawer to the bed frame.

NOTICE:
The installation for all the
four  storage drawers is base on
the five steps (25-29 ) above.

20/20


	改款1.5四抽软包床 说明书01
	改款1.5四抽软包床 说明书02
	改款1.5四抽软包床 说明书03
	改款1.5四抽软包床 说明书04
	改款1.5四抽软包床 说明书05
	改款1.5四抽软包床 说明书06
	改款1.5四抽软包床 说明书07
	改款1.5四抽软包床 说明书08
	改款1.5四抽软包床 说明书09
	改款1.5四抽软包床 说明书10
	改款1.5四抽软包床 说明书11
	改款1.5四抽软包床 说明书12
	改款1.5四抽软包床 说明书13
	改款1.5四抽软包床 说明书14
	改款1.5四抽软包床 说明书15
	改款1.5四抽软包床 说明书16
	改款1.5四抽软包床 说明书17
	改款1.5四抽软包床 说明书18
	改款1.5四抽软包床 说明书19
	改款1.5四抽软包床 说明书20

